RSB B452 2-AILATRRIIFFTI—)L

BHEFMETCOREEERMUNLDOIHEREANIHE/FERBENAIEREZ] (FF4EE)
(E+nlE x 10", HIZILE+31% X 1000DEKRTY , )

#E HHE/FHE (ke/5F)

“E‘\,E\ NS
ol E];F; = zom | A&
1 |diEE 9.0E+0 9.0
2 | EHR 2.1E+0 2.1
3 |BFER 4.2E+0 4.2
4 |EHE 9.4E+0 9.4
5 |RvAE 3.6E+0 3.6
6 |WLiZE 4.2E+0 4.2
7 |EBER 1.7E+1 16.5
8 |ZWER 3.0E+1 29.9
9 |FKE 2.3E+1 23.4
10 [BEER 1.6E+1 16.3
1 |BER 9.1E+1 3.0E+0 94.0
12 | FER 3.9E+1 39.1
13 | AR 1.3E+2 127.8
14 |#BRNE 3.0E+1 30.1
15 |&mBe 8.6E+0 8.6
16 [ELE 5.0E+0 5.0
17 |RNIE 6.1E+0 6.1
18 |fBHE 3.1E+0 3.1
19 |ILELE 5.6E+0 5.6
20 |RHE 9.2E+0 9.2
21 |IFER 3.1E+1 30.7
22 | B4R 3.3E+1 32.6
23 |Z5E 8.2E+1 82.4
24 |=ER 2.2E+1 21.8
25 |HER 7.1E+0 7.1
26 | RARAT 7.3E+0 7.3
27 | XBRKF 1.1E+2 114.2
28 |EER 8.2E+1 82.4
29 |=RE 1.8E+1 17.8
30 |F1FLE 4 4E+0 4.4
31 | EmME 2.9E+0 2.9
32 |ERE 2.7E+0 2.7
33 |FELE 1.9E+1 19.5
34 |[[EER 2.2E+1 22.2
35 |lWAOg 6.3E+0 6.3
36 |EER 3.3E+0 3.3
37 |BINE 2.9E+0 2.9
38 | EER 4.2E+0 4.2
39 | =B 6.3E-1 0.6
40 |{BREE 1.9E+1 19.5
41 |EBR 3.8E+0 3.8
42 | RIFE 1.9E+0 1.9
43 |[RERE 4 AE+0 4.4
44 | K7 R 4.6E+0 4.6
45 |EIFE 2.9E+0 2.9
46 |ERBEE 1.5E+0 1.5
47 | PR 1.3E+0 1.3

£H 9.5E+2 3.0E+0 952.4
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